Week 1
MATH 34B
TA: Jerry Luo
jerryluo8@math.ucsb.edu

Office Hours: Wednesdays 1:30-2:30PM, South Hall 6431X
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11. Find the equation of the tangent line to the curve y = at the point (0, —2).
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15. For what values of z in [0,27] does the graph of y =
tangent?
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16. A mass on a spring vibrates horizontally on a smooth level surface (see the figure}. Tts =X
equation of motion is z(t) = lsint, where t is in seconds and z in centimeters.

(a) Find the velocity at time £.

(b) After finding the velocity of the mass at time ¢t = 27/3, in what direction is it
moving at that time? v

Ol) Vc"/focae~7: jgf"“pj:& o oot
3 ;c‘(ﬁ)if(CO\s{j
l?) \/\/( ka? {,;ZF/5 [\’Uj‘ﬁxfga) - @jﬁ/ G’M,C/
see taoh 095 - LTy < 0
W}ﬁ fnfuny U\daqv\.) S e

?ajﬁivﬁ_ ; SV W‘qi\()’l (E)Mjﬂaﬂjj
‘{’0' H‘{ SLED, ;"(/'ffﬂaﬁ\7(c"£, Mg /C’h,b)

2



36. Differentiate y = e*°5(=),
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38. Differentiate F(z) = sm(m).
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45. Differentiate y = /2
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46. Differentiate y = 1/ + /T + /T.
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